Split the Middle Term
ax® +bx +¢

Factor any GCF
Find the product of ac.

Find two numbers m and n
Multiplytoac m-n=a-c
Addtob m+n=0>b

Split the middle term using m
andn
axZ+bx +¢
ax®*+mx +nx+c

Factor by grouping

(E)U\L —2‘1®+6u -—ZLD
@gu—b)-\&;( u-3)

IO
Factor: 6x*+ 19x — 20
(&XL—SX>+(2‘1><-D.%
X(6x-8)+4( Gx-5)

(x-s)(x+4 D

Factor: 3t* + 8t + 5
(3».':”—\-?5%-}(5&4—%

2E(ErD)+S(E+D)
(36+5 )£+

Factor: 10y? — 55y + 70
2y lly+14)

CSL\/Z-"IQ€7)/+I%
2y (y-2)~7] (\/ -.'z_)

Z (2y-1)(y-2)
Factor: 16x% —32x + 12

Q*-w"— BX 3 5)
(Lh("—— G +%

ax(ax-3)-1(ax-3)

820) = /6%
-~-21- 2
.
Factor: uz—lgx“b'zl

(-2.‘4-7 D

G-—20 ==)20]

—-20o-0d
—&-2d
-jo -1
— )2 10
wNS5= 15
S
21 = QY
-7--H
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Zero Product Property

b = 0 or both,

a+*b = 0,theneithera=0o0r

En-2=20
ESn= &

Lz
n=s=

Solve: (4p + 3]
Yptv=o
doe-s |
lp -3

P Y

What you will learn about:
Solve by Factoring

Solve: (x+1lx—4)=0
X-4Y=0O
X =4

[
Solve: (5n — 2){6n — 1) =0

n-l=&
lon= )

=

\

Solve: (x+1)(x—4)=0

Solve~Le+ble— =0~

Solve: 3p|(10p+7) =0
%‘?——%? lop+l=0
P=° lop=-
P
o
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Solve: w(2w +3) =0
w=0o Qi d=o
2Zlw="->

w= =X

Solve: x2+2x—8=0

Solve: b* +9b + 14 =0

Solve: 2y? = 13y + 45

Solve: 3¢?=10c—8

Solve: 5x% — 13x = 7x
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Solve:

Solve:

Solve:

Solve:

Solve:

Solve:

144q¢% = 25

36x% = 121

2y = 13y + 45

(3x—8)(x—1) =3x

2m+1)(m+3) =12m

(k+1)(k—1)=8
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Solve: 8x3 = 24x* — 18x

Solve: 16y% = 32y3 + 2y

Solve: 4x? = 16x + 84

Solve: 18a® — 30 = —33a

Find the product of two consecutive ingtegers is 132. Find
the integers.

The product of two consecutive integers is 240. Find the
integers.
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